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Essay Lecture Fourteen
Effect Signal Words.
Transition Words and Phrases
[as a resun Workers bulding he new transcontiental rairoad needed moeat: a3 @ result/as &
8 3 consequence | consequence/thersfora/thus/consequentiy/hence, hunirs kiled bison by the
heretore thousand.
thus Note: Notice tha diference between a5 & resulf and as a result of. AS  result
consequently is followed by a fuil sentance (ndependent clause) and infrocuces an effect.
hence: As a result of is followed by a noun phrase and introduces a clause.
Coordinatars
w Nativa Americans bagan trading bison skins 1o the setiers for svael knves and guns,
30 they began kiing bison in larger nimbera
Others
o resuttin Loss of habitat and overhunting resued in/caused the noar cxtinclion of ison
to cause

The reduced numbers of bison had a terrible effect on/affected the lives of the.
Native Americans who had depended on them for survival.

The rescue of the bison from near extinction 's a cause ot/a reason for celebration.
The 85 bison that survived were given refuge in Yellowstone National Park in 1892, thereby

saving this species from total extinction.
Note: Thareby is most frequently used In front of -ing phrases.
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Cause Signal Words

Courdinators
for Sisor wers ndspersabie t the Nalive American (b, for s one smmal provided Uhem
Wi narly Gverytning they necded for surval: meat,ciothng, shefs, 100, and weapons.
Note: When usad i tis way, for haa ths same maaning a5 becauss. However, you MUST
1 & comma i ront of fo, 47 you MUST NOT use 4 comma i front of bocause.
Subordinators
bocmne. Bieon wers ncsponeatic 1 he Native American (e because/einoe/ae T1e oo animal
since rovided therm vh nearl everythng ey needed for survval: mest, Cithing. sheltr, tocs,
as s woapons,
Others
o result from T rson's o eximcon rewaltod fromiwas the rewltof % o ol and
<o be the resuitof | overnuming.
aueto Bison neary became axinct due to/because of loss of haitat and overhunting.
becausy of

One effect ofconsequence of wastuard expansion was e destructon of habiat

e s i stach bizon o e ety Shrank 2% @ rosult offas 3 consequence of
the westward expansion o the 1800s.






 




 

